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¥ | AAokBEERES FEEHEHKF Bakx (B Ba% (15 FERES Ba% @) Bas @ s
1 (187 B vy Mml~E+R HIE35 HAT>FLR |HT 425 NFIR=>FTE 4,760 1,560 1,560 7,880
2B EF |V/svS ZEH~ELR HTI35 FTE>FLRE |HT 425 NHR=>FTE 5,680 1,780 1,560 9,020
3 BB EE (Vv ME~ELR HTEIEMEBE>FLR |HT 425 NFIR =318 5,220 1,780 1,560 8,560
45Tk IE SRvy #HMrBE~E2LR [HTI35 FE=EBLR |HT 425 NHIR=#HE 6,300 1,780 1,560 9,640
SIMA =F |¥/vs WHE~BLR HTEISMBE>ELRE |HT 425 NFR=>FHTE 5,220 1,780 1,560 8,560
6|Mi8 &R [HERE =3 HTI35 FTE>FLRE |HT 428 NHR=>FTE 2,550 | 2,240 4,790
7|k BB =B =3 HTI35 FTE>FLRE |HT 428 NAR=>FTE 2,550 | 2,240 4,790
8|ER JF |F=E %8 HTE3B TE=>FELR |HTS422 NHR=>FTE 2,550 2,240 4,790
O|FEBIER |¥¥v7 FRRN~ELR |HTI35 MBE=>BLR |bJ 425 JHR=HTE 5220 1,780 | 1,560 8,560
10|FE FRKF |¥/¥v 7 FRRN~ELR |HTI35 MBE=>BLR |bJ 425 JHR=HTE 5220 1,780 | 1,560 8,560
11| RBR BN |P5v s EHE~ELR  |HTI3EMBE>2FLRE |[HI 425 NHR=FE 5,220 1,780 1,560 8,560
12 ILEFE FF (Vv 7 AE~=BLR HTE35 FTE>EBELTRE |HT 428 NHR=FTE 6,300 1,780 1,560 9,640
93,350
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